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C==sJIA A X& 200,000 200,000 0
= 100,000
< 30,000
i 70,000
405 RH&HE S HI 200,000 200,000 0
= 100,000
< 30,000
e 70,000
01 L EFFHSHI 200,000 200,000 0
O=sJH AN XA 200,000
= 100,000
< 30,000
s 70,000
SAL2=sJIH N 55,800 15,000 40,800
402 RI2HXt20l ™ 55,800 15,000 40,800




2N SEYHD
B sofgol ASEO
Crel: =BT CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 2IZEH 2 A B (KR ) 55,800 15,000 40,800
OsJIH X&(35) 55,800,000 » 14! 55,800
L= SYIIH OIMSR M2 X 240,000 0 240,000
= 120,000
< 36,000
e 84,000
402 RIZEX201 ™ 240,000 0 240,000
= 120,000
= 36,000
e 84,000
02 22t X2 AL E X (01X THE) 240,000 0 240,000
OkL= seIIH OIMSX dZ0s X2 240,000
= 120,000
< 36,000
s 84,000
HH2F A 256,906 279,340 N 22,434
Jl2ddl(s=&d &) 256,906 279,340 N 22,434
HYE =X ZH 8,100 7,500 600
203 R F=&H| 8,100 7,500 600
01 JI122L =8 3,300 3,300 0
QI 2H L FaH| 275,000& 128 3,300
04 EAN2IHRF=EHI 4,800 4,200 600
ORN2ILYRF=AHI 400,000 x12& 4,800
2 Et2 | 204,456 213,840 A9,384
201 L2l 204,456 213,840 N9,384
01 At 2t 2l 77,256 86,800 AN9,544
OgBt+=&H| 20,000
ozdg=+¢ 11,800
Og&g 50,0003 x2H 118 11,800
o=l 8,000 x26H 24! x 128 4,992
OFAL Xl 22l 40,464
OHJetd 22l ] 900,000& »12& 10,800
OAgotd 2tel | 242,000 128 2,904
OsZJIsX el 300,000& =122 3,600
OFANEHZHI 1,600,000& »12& 19,200
O2aHel el 330,000& 122 3,960
02 3323l 127,200 127,040 160
03223 % HA 85,200
OoNIIea 6,000,000& x12& 72,000
(OFS Sy =] 1,000,000& »12& 12,000
OJIEtE3R= 100,000& =128 1,200
OA& &8l R XlHl 12,000




2N SEZHD
Ha: Y2 I
¢ J2dtl(sE=3 ) (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O Xt& & B 30,000
0 gl 39,600 50,400 A 10,800
202 o4dl 39,600 50,400 A 10,800
01 = LH o4 1l 39,600 50,400 A 10,800
O =0l 39,600
AH&HFH S HI 4,750 7,600 A 2,850
405 THabF S| 4,750 7,600 22,850
01 AL EFH S 4,750 7,600 A 2,850
oxuUag 24 &FH 2L 2,750,000 » 14! 2,750
OsgJll=dHd 29 FH &x ¥ P 2,000
Of4 s&&Hl 2,000,000 =14 2,000
HRes (3= 75,000 75,000 0
UWEAHANKE(sEFH XD 75,000 75,000 0
SHELENSSESH 8&=3 75,000 75,000 0
701 JIEtSI HEHES 75,000 75,000 0
01 JIEtSIHE &S 75,000 75,000 0
O=21 g Al 30,000
OMZItE 212 45,000
SMoE SEDBANY B4 794,744 0 794,744
d2sgHI =4 794,744 0 794,744
d2=sg 2Y 64,744 0 64,744
101 1244 dl 20,744 0 20,744
04 JIZHHZ2XRHEE S 20,744 0 20,744
OZzsgctR el 22X el 20,744
oXxsae JI2s 1,529,720 »3& »4H 18,357
o4t 283 18,356,640& »13% 2,387
201 L2l 4,000 0 4,000
01 At 22l 4,000 0 4,000
odzsgdHN 29 4,000
O3&=d 22 MZE 100,000 »35 +5H 1,500
OC3&=sH MREES 50,000 55 *2H 500
OL=ZH HNES 100, 000& 2 104 2,000
206 M= Hl 40,000 0 40,000
01 =8l 40,000 0 40,000
0Z&=g2Y Mz ¢ 40,000
OZ=Y 29 422 79
10,000& x10E 750 x23] 15,000
OHX gais gl s 2
25,0003 *5& 10001 x23 25,000




2N sEZHY
M SMQt SEAZANY B4
Sel ARSYUSX X4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
d2d=sHdHANASs BH 170,000 0 170,000
301 EEd = 170,000 0 170,000
12|24 = 170,000 0 170,000
0OZ2=gEH A=23 8,500,000& *20ha 170,000
ZHsHEX =4 F& 510,000 0 510,000
307 glz2tol & 250,000 0 250,000
02 LIt HAMHEE 250,000 0 250,000
OfMZE 32X H 50,000, 000& =23l 100,000
OMAZZ F2XH 37,500,000 x4 4! 150,000
401 Al HI K 201 I 260,000 0 260,000
01 A& HI 260,000 0 260,000
OOFUIMEZRZE &X 150,000,000 =14l 150,000
odeEfzE &X 30,000,000& =14 30,000
O=1gCIAtel 32 80,000,000 » 14! 80,000
Zd=sHd=ENAA 50,000 0 50,000
307 glz2tol & 50,000 0 50,000
04 QIZFHALAIH E = 50,000 0 50,000

OSH A Z&2HX FSEHAE(S,342)
25,000,000& *23! 50,000




